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Directions : Answer the following questions
by selecting the most appropriate option :

Present day education cuts off the
man from life because

(1) it is not an integral part of life

(2)

it is unable to provide bread and

butter to man
it is unable to provide job to man

(4) it i1s unable to fulfill the basic

needs of a man

According to modern concept of-

teaching, teacher should play mainly
the role of a

(1) Philosopher
(2) Friend
(3) Working partner

(4) Instructor

Which source will provide maximum
and up-to-date information about a
subject ?

(1) Encyclopaedias
(2) Internet
(8) Latest academic journals

(4) International conferences
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4. Some students of your class have

become inattentive; which strategy

would you use to regain their attention ?
(1) A brief physical activity

(2) Suspending the class for

sometime
(8) Asking children to be attentive
(4) Sending the class out for games

When a teacher enters in the class
room for the first time he should talk

about

(1) school building

(2) school headmaster
(3) textbook

(4) himself and students

The education system developed by
Mahatma Gandhi is known as

(1) Basic education system
(2) Vocational education system
(8) Child centred education system

(4) Handicraft education system
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Which of the following acts of the
teacher does mot help in creating
proper learning environment ?
(1) Providing the children

feeling of security

with

(2) Giﬁng the children sense of
freedom
Allowing children to

other children

criticize

(3)

(4) Making children fearless

Which of the following is not the
cause of truancy of students ?

(1) Uninteresting school programme
(2) Teacher’s partial behaviour

(3) Too much home work

(4) Too many holidays

When a teacher gives the learner the
sense of success, he 1s using

(1) the law of readiness
(2) the law of practice
(8) the law of effect
(4) the law of mental set

According to Naturalism, the centre of
education should be

(1) Teacher - -

2 Child —

3) Curriedlum
(4) None ¢fthe above - . i
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A student of your class is in the habit
of telling a lie. How would you deal
with him ?

(1) tell him not to tell a lie

(2) punish him

(3) just ignore him

(4) will take him into confidence and

counsel

The best provision for the education of
the talented children is

(1) Ability grouping
(2) Giving double promotion
(3) Enriching programme

(4) Providing special schools

As per National Policy on Education,
1986 percentage of national production
must be invested on education

(1) 6% (2) 10%

(3) 4% (4) 3%

School administration assigned you

some extra classes which are meant

for weak students. What will be your

rcaction as a teacher ?

(1) Protest and not take classes

(2) Request
decision

reconsideration of

(3) Tell studenl to prepare on their
own

(4) Accept it as your responsibility
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A

Study the following statements about
lecturing as a method of teaching :

A. Tt is an efficient method of giving

information.
B. It is an efficient way of making
students think critically.

Which of these statements
correct ?

is/are

(1) A only (2) B only

(3) Both A & B (4) Neither A nor B

Before starting to teach a teacher
must

(1)
(2)

make the students stand-

make
ready

the students mentally

(3) clean the black board

(4) ask the students to keep silence

While teaching if you realize that
what you have taught is not correct,

" you would

(1) leave the topic unfinished and

shift to another

(2) tell the students that it was a
mistake and correct it

(8) divert the attention of the
students

(4) Scold students
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Salim is very good in Music but is not
able to do well in Mathematics. As a

teacher of Mathematics, how will you
handle Salim ?

(1) Tell him that Music does not have

a future

(2) Tell him to leave Music and study

Maths
(3)
(4)

Call his parents and talk to them

Tell him that he can do well in
Mathematics and explain the

Mathematical concepts to him

A talented child can not be identified
through observation because

(1)

observation is not an objective
technique
observation is a  subjective

technique

(2)

(3)

observation is used by those who

are expert

(4) All of the above

While delivering a long lecture what a
teacher should do ?

(1) Should break in between
(2) Should speak continuously
(3) Should ask questions in between

(4) Should change own posture
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A

A girl of your class is interested in

sports and wants to pursue her career

in sports. What will you suggest

her ?

(1) Girls have no future in sports

(2) She should put in hard work to

achieve her ambition

Ask her to be focused only in

academics

(3

Girls can not excel in sports as

(4)
they are not physically strong

Which is not true about intelligence ?
(1)
(2)

Intelligence is the ability to learn

Intelligence is the ability to solve

problenis

Intelligence is the ability to work
hard

(3)

(4) Intelligence is the ability to adapt

to novel situation

The most effective evaluation methc;d
is

(1) Annual examination method
(2) Examination with book method
(3) Semestral method

(4) 'Objeé-tive qﬁeséioﬁ paper method
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Match the following :

A. Slide Projector (i) Visual mean
(ii)Audio mean
C. Chart (iii) Audio-visual mean

D. Voice Recorder (iv)Projective mean

A B C D
(1) (iv) (i11) (i) (i1)
(2) (iv) (11) (111) (1)
(3) (i) (iv) (ii) (i)
(4) (1) (i1) (i11) (iv)

The term 'comprehensive evaluation'
means

(1)

Evaluation conducted at several

points of time

(2)

Evaluation by a group of teachers

(3)

Several test for long duration

(4) ¥Kvaluation of curricular & co-

curricular aspects of pupil growth

The
serially is developed in the child when

capacity to arrange objects

he is in

(1) Sensory motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage
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'He hardly works.'

The underlined word means

(1) arduously (2) mostly

(3) scarcely (4) strenuously

Choose the correct word for the
following phrase :

'‘Fear of foreigners'
(1) Hydrophobia
(2) Xenophobia

(3) Homophobia

(4) Claustrophobia

Give one word for ‘That which can be

eaten.’
(1) edible (2) chewable
(3) palatable (4) digestive

She had a headache; otherwise she

would come

(1)
(2) would have come
(3)

came

(4) will come

Cat.-3/32
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68.

Which sentence is inecorrect ?
(1) 1left without any one knowing.,

(2) 1 hope you will excuse my leaving

carly.

(3)

As he was going up the hill, he

saw an old temple.

(4)

I dislike your behaving in this

way.

Complete the given sentence .

"The human body is like an engine. It
1

requires fuel to ...,

worlc

(1)

(2) keep it going

(3) run from

(4) keep it on action

He ... not. oppose me.

darc (2) dares

(1)
(3)

did dare (41 was dare

Choose the correct Arficle for the

blank :

'‘Give me ........ yeltow teapot which is

on the table.
(1) a

(2) an

(3) the

(4} Zoero article



- 69. They told me that he ........ in Jaipur.
(1) were
(2) was
(3) will be

{(4) can be

70. His score is higher than .........
(1) you

(2} yours

(3) your

(4) yourself

Choose the correct Prénoun for the
blank :

71.

'He is the only person ........ can help

you,
(1) who
(2) that
(3) he

(4) which

72. Choose the correct Preposition for

the blank :

'One must abide ........

one’s promise’.

(1) in @) by

(3) for (4) to

Cat.-3/32
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73. 1have been here

...............

(1) from
(2) since
(3) for

(4) till

74. Change the Voice of the following

sentence ;

'We were let go.'

(1) They let us go.

(2) We were let to go.

(3) They Were‘ let us to go.
(4) Let us go.

75. Which word is wrongly spelt ?

(1) believe (2) relieve

(38) brief (4) decieve

Directions : Read the passage given below
and answer the questions that follow
(Q. Nos. 76 to 85) by selecting the most
appropriate option : '

Conversation is indeed the most easily
teachable of all arts. All you need to do in
order to become a good conversationalist is
to find a subject that interests you and your
listeners. There are, for example, number
less hobbies to tack But the
important thing is that you must talk about

about.

the other fellow’s hobby rather than your
P.T.O.




A

the
popularity. Talk to your friends about the

own. Therein lies secret of your
things that interest them and you will make

your reputation for good fellowship,
charming wit and a brilliant mind. There is
nothing that pleases people more than your

interest in their interest.

It is as important to know what
subject to avoid, as what subjects to select
for good conversation. If you don’t want to
be set down as a wet blanket or a bore, be
careful to avoid certain unpleasant topics.
Avoid talking about yourself, unless you are
asked to do so. People are interested in their
problems, not in yours. Sickness and death
bore everybody. The only one who willingly
listens to such talk is a doctor, but he gets
paid for it. To be a good conversationalist
you must know not only what to say but how
to say it. Be civil and modest. Don't
overemphasize your own happiness. Be
mentally quick and witty, but don’t hurt
others with your wit. Finally, try to avoid
mannerism in your conversation. Don’t bite
your lips, or click your tongue, or roll your
eyes, or use your hands excessively as you

speak.

76. The secret of your popularity lies in
(1) cultivating good hobbies

(2) being able to converse about what

is of interest to the listener

(3) having a knowledge about a large

variety of hobbies

(4) talking about your hobby

Cat.—-3/32
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79.

78,

79.

The

conversationalist is

secret of becoming a good

(1) talking about problems

(2) avoiding mannerism n
conversation

(3) using your wit

(4) knowing what to say and how to

say it

A doctor is the only one who readily
listens to conversation about sickness

because

(1) it is his job and he earns from that

(2) he is not interested in anything’s
else

(3) sickness and death interest
everybody

(4) he is a kind person

Courtesy and politeness are

recommended through which word in

the passage

(1) willingly

(2)

civil

(3)

overemphasize

None of “the abbve

{4)



80.

81.

82,

(D

- (2) it

To become a good conversationalist,
you need to

(1) find a good teacher
(2) find an interesting subject
(3) practice the art of convérsation

(4) converse about what you and the
listener find interesting

You should avoid talking about
yourself because

(1) you are a bore

will make

unpleasant

you appear

(3) you don’t know how to choose the

subject of a good conversation

(4) people are not interested in you

or your problems

‘Mannerism’ in the passage means
not hurting others with your wit

(2)

having good manners

(3) gesture or way of speaking typical
to a person

(4)

using polite language

Cat.-3/32
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83.

84.

85.

86.

A

Which word in the passage is the
opposite of ‘arrogant’ ?

(1) witty
(2) mentally quick
(38) conversationalist

(4) modest

What pleases people most is

(1) your reputation for

fellowship

good

(2) your clever use of language

(3) your taking interest in what is of
interest to them

(4) your brilliant mind

Which word in the passage means to
strongly stress that something is
particularly important ?

(1) overemphasize
(2) mentally
(3) excessively

(4) mannerism

after ten years in the

...........

business.
(1)
(2)
(3)
(4)

wise
wisest
more wise

wiser

P.T.O.
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. 88.

87. Choose the correct Adverb for the

blank :

"The sun ........ rises in the east'.

(1) sometimes

(2) often

(3) always

(4) rarely

The dumb ............ not speak.
(1) has (2) does
(3) is (4) do

(20)

89. Choose the correct Phrase for the

90.

blank :

"The craft in which I sailed rapidly

veererrn.. the open sea.’

(1) made out
(2)} made up
(3) made for
(4) made off
He is poor, .........
his situation.
(1) yet

(3) so

he is satisfied with

(2) but
(4) while

Cat.-3/32
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91. She is too clever and writes too 94. 'Fear No More' is a poem of

cleverly.
(1) Wordsworth

- The underlined words are .
(2) John Milton

(1) an adverb and an adjective (3) William Shakespoare

(2) an adverb and an adverb (4) W.B. Yeats

(3) an adjective and an adverb
95. Which of the following is true ?

{(4) an adjective and an adjective ‘
‘ (1) Skylark is written by Keats

92. 'A Thing of Beauty' has been taken
(2) West Wind is written by

from
' Wordsworth

(1) Shelly's Skylark | (3)

Ode on Immortality is written by

Coleridge
(2) Keat's Endymion

(4) Paradise Lost is ‘written by

(3) Wordsworth's Pre;ude Milton

(4) Coleridge's Ancient Mariner . ) )
96. The policeman said, 'Liar !' It can be

changed into indirect speech as
93. Which of the following is incorrect ? '

(1) The policeman said that I was a
(1) Sheep live in flocks Liar

) (2) The policeman shouted at me
(2) Here are two pie for the beggar . .
calling me a liar

(3) There is no gentry in the town (3) The policeman called me a liar

(4) The policeman asked me if I was
(4) Who are these people

a liar

Cat.-3/32 B g5
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97. A figure of speech in which one word

or idea is set against another to
heighten the effect of what is said, is
called

(1) Paradox
(2) Antithesis
(3) Epigram

(4) Oxymoron

98. 'The child is the father of man' 18 an
example of
(1) Pun
(2) Epigram
(8) Oxymoron
(4) Antithesis

99. Choose correct answer for the blank
It is the best .coccoevrennen. you can buy.
(1) which (2) what
(3) that (4) none

100. Choose the correct form of the verb for

the blank in the sentence

Look, the moon in the sky

.........

(1)
(2)
(3)
4

rises
is rising
has risen

will rise

Cat.-3/32
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Instructions for Question Nos. 101 to 107 :

Read the passage and answer the

questions given below it.

Gandhi chided the

collecting big fee from the share croppers.

lawyers for
He said, "I have come to the conclusion that
we should stop going to law courts taking
such cases to the courts doing little good.
Where the peasants are so crushed and fear-

striken, law courts are useless.

101. The peasants are so crushed. This

means

(1) The peasants are ill-treated

(2)

The peasants are oppressed with

force

(3) The peasants are destroyed

(4) The peasants are frightened

102. The meaning of the term share

croppers in the passage is

farmers who own farms

(1)

(2)

farm labourers who work on

farms

tenant farmers who pay a sharve

(3)
of their crop as' rent '

i

LT A RN AT N
none of the above

@y



104.

105,

1086.

useless
(1) where the peasants are crushed

(2) where the peasants are fear-
striken

(3) where the peasants are crushed
and fear-striken

{4) none of the above

The word peasants in the passage
means

(1) rich farmers

(2) countryman working on the land
 for wages

(3) lgndless workers

(4) farm labourers

Gandhiji chided the lawyers for

(1) not':;i:'siking cases of the poor

(2) éollecting big fee from the poor

 (3) not helping him in his movement

(4) not fighting against the government

What advice does Gandhi give to the

lawyers ?

(1) to stop taking cases

(2) to go tolaw courts

(3) to take cases of peasants free

(4) to help share croppers

Cat.-3/32
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108. According to Gandhiji law courts are

107.

108.

109.

A

The meaning. of the word Chided in

the passage is

(1) advised
(2) scolded
(3) argued

(4) requested

'‘Ancient Mariner' was written by

(1) Wordsworth
(2) 8.T. Coleridge
(3) Browning

(4) H.D. Thorean

"Lend me some money, friend.”

It can be expressed in indirect

speech as

(1) The friend requested to lend him

some money

(2) Ram asked his friend to lend him

some money

(3) Ram ordered his friend to lend

him some money

(4) Ram told his friend’ that he

should lend him some money,

P.T.O.
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110.

111.

112,

Which part of the sentence has error

It rained very heawvily this morning.
(1) (2) (3)

No error

(4)

My first jump from an aeroplane.

This noun group has the pattern

(1)

Adjective + Noun + Preposition
group
(2) Determiner + Adjective + Noun +

Preposition group

(3)

Determiner + Preposition group +

Noun + Adjective

(4)

Preposition group + Determiner +

Adjective + Noun

In 'How to Teil Wild Animals' the poet
suggests that

You can identify an Asian Lion by

(1)

hearing the roars

(2) seeing the black strips

(3)

seeing the animal lap

hearing the animal weep

(4)

Cat.-3/32
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113.

114,

115.

116.

I saw her leave the library.

The underlined word is
(1) a finite verb

an infinitive

(2)

non-finite verb

(3)

(4) infinitive without to

Which part of the sentence has an

error ?

He received
(1)
on the Christmas day.
(3)

many presents
(2)
No error

(4)

Choose the correct answer for the
blank in the sentence.
I proposed

............

tomorrow in the
morning

(1) to start
(2) starting
(3) to have started

(4) being started

..............

We would rather you
about it

(1) did not tell
(2) do not tell
(3) not have told

(4) have not told



(25) A

117. The war began on 4th August. 120. She has passed B. A. last year.
The underlined word in this

The correct form of this
sentence means

sentence is

(1) broke off :
: (1) She had passed B.A. last year

(2) broke in
(2) She had been passed B.A. last

(3) broke out year
(4) broke up (3) She passed B.A. last year
118. In the poem 'No Men Are Foreign' the (4) She would have passed B.A. last
poet tells that no men are strange year
because

121. Having written the letter I posted it.
(1) We are all human The underlined words are

(2) We all have similar physical (1) present participle

features
(3) We all live on the same earth (2) past participle
(4) All of the above (3) gerund

119. Which of the following sentences is (4) perfect participle
correct ?
. : 122. Choose the correct alternative for the

(1) Being fine, we decided to go blank '

s wng She ............... all hopes when she was
(2) Being fine the day we decided to saved.

g0 swimming
: (1) has given up

(3) The day being fine, we decided to
. ) g (2) gave up

g0 swimming

e (3) had given up
(4) We, being fine, we decided to go

swimming' (4) would have given up :

Cat.-3/32 ' LCP.T.O.




123.

124,

125.

'Garbage to them is gold. Which
figure of speech has been used in this

sentence ?

(1) Simile
(2) Metaphor
(3) Hyperbole

(4) Pun

When your health is better you will
play better. :

In this sentence the underlined words
are

(1) an adverb and an adjective

an adverb and a noun

(3) an adjective and an adverb

(4) an adjective and an adjective
Leslie Norris in the poem titled

‘A Tiger in the Zoo'

(1) Compares a tiger in the 200 with

a lion in the jungle

(2) Compares a lion in the zoo with

the tiger in the jungle

(3) Compares a tiger in the zoo with
a tiger in the jungle '

(4) Cldmfjax'es a lion in the 200 with
the lion i the jungle

Cenat s

Cat.-3/32
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127.

128.

126.

Which part of the given sentence has

an error ?

No sooner I entered the room

1) (2)

than the clock struck twelve. No error
(3 (4)

"If T were you I would stop taking
tranquilizers', I said. '

This
indirect speech as

can be expressed in

(1) 1 said that if T were you I would
stop taking tranquilizers

(2) 1 advised him to stop taking

tranquilizers

(3) I asked him to stop taking

tranquilizers

(4) 1 suggested him that he should
stop taking tranquilizers

Which figure of speech is used in this

example — '‘Freedom is slavery' ?

(1) Paradox
(2) Trony
(3) Understatément

(4) Antithesis



L e (27) . A
129. He holds the rope with one hand and 132. 'Heaven Lake' is the famous work of

stretches out the other to the boy in ‘
(1) Raja Rao

(2) Vikram Seth

“the water.

The simple sentence for the compound

sentence is (3) B.R. Laxman Rao
" (1) He holds the ‘rhpve with one hand (4) R.K. Narayan
stretching the other to the boy in ’
. the water ) 133. 'To burn a midnight oil' means

(2) Stretchmg the other to the boy in

the water he holds the rope with .
one hand o (2) To burn lamp to keep light in the

(1) To keep awake in the night

(3) Holding the rope with one hand house
he stretches the other to the boy (3) To study hard at night
in the water
(4) He holds the rope with one hand
while stretchmg the other to the

boy in the water

(4) To burn lamp to save electricity

134. Wait until the doctor ............... the
patient.

130. The poem 'Aunt Jenmfers Tlgers
S - : Choose the correct answer for the

‘ pomts out )
. N blank
(1) the troubles a tiger experiences
. (1) examines
(2) the futility of women's life

(3) the constraints of married life (2) is examining

. (4) militarism that echoes in it (3) has examined

I L (4) will have examined
131. Choose the correct modal for the '

blank in L 135. Why is a thing of beauty goes for ever ?
When she was 10 years old she .......... Because
wear frock. '
(1) beauty never dies

(D Would o

PRI gt T (2) its loveliness i increases
(2) used to :
(3) must SPORIESTTANTY (3) it never withers
(4) none of the above (4) all of the above

Cat.-3/32 ' : P.T.O.
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136.

137.

138.

- (4)

If the baby is a girl what will they

call her 7' He wondered.

It can be said in indirect

speech as

(1) He wondered what they would

call the baby if it was a girl

(2) He wondered if the baby was a

girl what they would call her

(3) He wondered what would they

call her if it was a girl

(4) He wondered if the baby was a

girl what the people call her

What is the name of the little girl in
the story "The Little Girl' ?

(1) Alice (2) Grannie

(3) Kezia (4) Ramia
Sita said, "How foolish I am !"

In indirect speech this

sentence would be like

(1) Sita said that she was foolish

(2) Sita cried out that she was a

great fool

(3) Sita accepted that she was very

- foolish

Sita reported that she was very
foolish b

Cati-3/32
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139. A fast train can go fast.

140.

141.

142,

The underlined words in the

above sentence are

(1) an adverb and an adjective
(2) an adjective and an adverb
(3) an adjective and an adjective

(4) an adverb and an adverb

When did Louis Fischer first visit
Gandhi ?

(1) in 1947 (2) in 1942
(3) 1n 1916 (4) in 1917
We oo all day when you came.

Choose the correct answer for the
blank

(1) were working
(2) had been working

(3) have been working

(4) had worked

'Dust of Snow' is the poem of

(1) Walt Whitman
(2) Robert Frost

(3) Andriefiné Rich -

(4) Robin Klein . * 1'

we



143. Ram and his brother

present here.

Choose the correct answer

(1) is

(2) are

(3) has been

(4) have been

144. We denied having done it.

..................

This sentence if changed into

complex, will be written as

(1) 'we denied that we had done it

(2) we had done it and we denied

(3) we did it but we denied

(4) we did it but denied doing so

145.
. () Mahatma Gandhi

(2) Mrs. Indiré.i(“;‘tar;dhi’v

(3) A.P.J. Abdul Kalam ,

(4) R N Tagolfe's,; T

Cat.~3/32

'Wings of Fire' is an autobiography of

(29)

146. You must go on a diet.

147.

148.

The negative form of this is

(1)
(2)
(3)
(4)

You must not go on a diet
You need not go on a diet
You need not to go on a diet

Must you not go on a diet

One of the boys saved his son.

The passive voice of the above

sentence is

(1)

(2)

(3)

(4)

His son was saved

His son was saved by one of the
boys

His son has been saved by one of
the boys

His son was being saved by one of
the boys

Which of the following is not true ?

(1)

(2)

3)

(4)

Robert Browning is a famous

victorian poet

Alfred Tennyson is a famous
Neoclassical poet

Charles Lamb is a famous essayist

‘Charles Dickens :is a famous

noveligt AT
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149. Choose the correct forms of verbs for
the blanks in

(D)

(2)

3)

(4)

......

a flower now.

am smelling, is smelling
am smelling, smells
smell, is smelling

am smelling, has smelt

It

(30)

150. 'Are you coming home with me', he
asked.

The indirect speech of this sentence is

(1)

(2)

(3)

(4)

He asked me if I was going home
with him

He asked me I was coming home
with him

He asked me if 1 would come
home with him

He asked me that I was coming
home with him

Cat.-3/32



